MEHREAERR (MRS

%130 [FR25F7H8H~1 0HAIE]
BA{iI: uSv/h

X T AR1EH BER 5130 AIE(E
1cm 50cm Im

AT |BLERFEOERELS (GHhR) [BRET—T 5408 7810H 0.34 0.31 0.30
AT |BBLERROLS (LHBHR) [HEH1152 7H9H 0.41 0.37 0.36
AT |srstmsaeys— @an<rsy @mn |BELL T BH9-1 78H10H 0.39 0.30 0.30
KT |[HEwEItEyy— (BiES) [FAH—TH29-9 7H10H 0.30 0.26 0.26
AT |=mrsmsn cvon—r) GEg) | FERAL-1 7B8H 0.34 0.28 0.26
KT |BEEEREItYY— (BEE) |FAM—THI15-15 | 7H10H 0.35 0.32 0.29
KT Ly aZE (HE5) Ly F27-1 7H8H 0.27 0.28 0.29
KT |RiEFr (BIE13) BHHE_"TH15-1 7H10H 0.18 0.17 0.19
AT |[BFEEZERZOEOOE (FR) |HEy T1-17 7H8H 0.13 0.13 0.15
KT |(B2EEYSY— (BET) [[BXKE—THIL-30 7H9H 0.26 0.24 0.22
KT |H@EEIUE (BES) FEXLET7-7 7H9H 0.75 0.63 0.62
AT |BBILBRAAOIEIESS (B¥IA) |FHRE44-4 7H10H 0.12 0.14 0.13
KT |DELEVY— (BEER) AET—TH17-4 7H10H 0.37 0.36 0.32
AT |BHEOHRFHE (BiH1z) [RIRUTE18-6 7H10H 0.84 0.66 0.61
KT |FREE (BEEEI3) HE=THB3-7 7H8H 0.24 0.23 0.23
KT |EERENECERADR) |[EL—THES-3 78108 0.58 0.41 0.34
AT |[FRXEEYY— (E@AOF) [BTE1-2 7H10H 0.46 0.34 0.31
AT |csnvexzonane@EaAing |ZSHEET3-5 7H10H 0.95 0.73 0.64
KT |[PREEE (BHESH) ElLl—THE5-25 7H10H 0.26 0.25 0.25
KT |HErEXNEE (BHE) (24 F1-5 7H8H 0.19 0.15 0.14
KT [KEFE (BIE13) EMET1-4 7H10H 0.66 0.48 0.44
KT |[BEE (BiE13) ey F22-16 7H8H 0.19 0.20 0.22
AT % xteoie ca-nup<em @arom |FEEE—T B1-1 78108 1.2 0.82 0.70
AW |[wenrnsmsemssnn =) | KRETFMEERL4 7H8H 0.32 0.30 0.33
AW |BLOERE (BFES) AHRE] %182 7H8H 0.27 0.25 0.24
=T |=RmEtERRtE Y v — (BER) |SREn=mTsEm0e-1| 7H8H 0.38 0.35 0.36
EHE  |[EmEuiiEey v &R (BER) |[EEITRTERASERL-2| 7H8H 0.28 0.28 0.32
EE |ExREtY5Y— (BEH) [EgrrsnasrEaee| 7858H 0.54 0.43 0.40
EE TR ERRERs R (EEADH) |ERIDIAFTEHF6[ 788H 0.19 0.22 0.21
HfA[FEMN >HBN0E (BiES) |BNEEATEFEWL-2| 7H9H 0.46 0.44 0.43
BME[&SEE (BiH13) BAEINATEFEL 7H9H 0.43 0.53 0.56
S |EaLzs - v—E2eyy— (BEE) |[SRLERAFARELS-1| 7898 0.77 0.56 0.50
EALL|BLHEAEEY 5 — (BiER) [ERALHAREFZHE12] 7H9IH 0.33 0.25 0.26
e |AEREoN (EmAOR) [HEEl#RFNEL2] 7H8H 0.08 0.08 0.08
HiE |ZABittyy—HxE GEg) |BVBERER T H16| 7H8H 0.17 0.15 0.13
#iE |BLUGEINHVKE (BER) |BUBEIGEFTHE2-2| 7H8H 0.15 0.13 0.15
#iE (BVERREXR (HES) |BVBHTEVEATH26| 7H8H 0.15 0.13 0.13
HiE  |mummers— @uisvozms msm |HEITHGE_TH48-2| 7HSH 0.19 0.18 0.19
HiE |mgzver 27—+ (BER) |BGEEE)|IFREL-1] 7H8H 0.16 0.24 0.23
HN |ERILE3E (BEES) HA B/ IF /K130 7TH9H 0.19 0.19 0.20
HN |Eftigsity y— (BES) |BNITES®E0 ./ fes-1| 7H9IH 0.17 0.16 0.16
AN |EmEsEmetey y— (BER) |ENiTSETTyIRe7-2|  7H9H 0.40 0.27 0.25
i |EEtEXREtyy— (BEHg) |FRI=IERCEr -2 7H9H 0.27 0.34 0.31
il |PEtERREE Y 5 — (BiEg) |tEeTEREEsie-1| 7898 0.12 0.12 0.12




